
Solutions Lab-session 6 

1) The three functions are: 

 

2)    (a) 

 

(b) 

 

In (a) and (b) the variable x plays the role of the body mass index. 

 



(c)  

 

Now we have two IF…ElSEIF structures, the outer one decides on the 

gender (the variable g) and the inner ones decide on the bmi (the 

variable x). 

3)    (a) 

 
 

 

 

 



(b) 

 

(c) 

 

Notice that the last function uses the first two functions. This can 

be always done if all three functions are written in the same VBA 

module. 

4) 
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